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HHX3—2 BEYICERTREEESNAEECETHEIEI/) | WEFE PR
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SUERH O TFinlIZBEET 5Tt SERHA
ﬁ;‘g TREOBHOEILADKRES TREDOHBSILNDOKRES TREOBIBODEILADKRES TREDHBESILNDKRES
; 100kN/m%#B% % - -~ - -|3mEEZD -~ - - -| 100kN/Mi%Z#BZ % - -~ - -|3mEEZ B -~ - -
znLs 1.00 |1 0.00 ~ 6.10 76.50 | TnLS | 000 ~ 000 1.57 7.91 Zzh st 1.00 | 5.00 ~ 7.77 76.50 | TnLS | 6.00 ~ 7.77|1.67 7.91
2 100kN/m%#E% % - -~ - -|3mEEZD -~ - - -| 100kN/MiZ#BZ % - -~ - -|3mEEZ B -~
znLs 1.00 |1 0.00 ~ 748 95.60 | =hst | 0oo ~ 748|206 10.41 Zzh st 1.00 | 5.00 ~ 10.09 95.60 | NS | 5,00 ~ 1009 2.06 10.41
3 100kN/m%#8%25% | 1.00 | 000 ~ 051 107.60 |3m%E#BZ% -~ - - -| 100kN/m%#BZ2 5| 1.00 | 10569 ~ 1200 107.60 |3mE#ZD -~
znLs 1.00 |1 0.61 ~ 830 100.00 | =nllst | 0.00 ~ 830|224 11.34 Zzh st 1.00 | 5.00 ~ 1059 100.00 | =nSt | .00 ~ 1200 | 2.24 11.34
4 100kN/m##B2%| 1.00 | 000 ~ 235| 13672 |3Im&EBZ5 -~ - - -| 100kN/m%#82 5| 1.00 | 1067 ~ 2000 136.72 |3m&E#ZD -~
s 1.00 1 235 ~ 1014 100.00 | #hdS | 000 ~ 1014] 282 14.24 Zzh st 1.00 | 5.00 ~ 10.67 100.00 | =nSt | .00 ~ 2000 2.82 14.24
5 100kN/m#Z#8Z5% | 1.00 | 000 ~ 225| 134.97 |3m%EHBZ3 -~ - - -| 100kN/m%#BZ2 5| 1.00 | 11.11 ~ 2000 134.97 |3mE#ZD -~
s 1.00 | 225 ~ 1003 100.00 | #hLs | 000 ~ 1003] 2953 14.52 Zzh st 1.00 | 5.00 ~ 1111 100.00 | =nSt | 5.00 ~ 2000 2.93 14.52
¢ 100kN/m#Z#8Z25% | 1.00 | 0.00 ~ 337| 154.07 |3mEBZB| 000 ~ 057|333 16.81 | 100kN/m#Z#BZ% | 1.00 | 10.78 ~ 30.00| 154.07 |3mEBZD| 25,00 ~ 3000| 3.33 16.81
ZhnLs 1.00 | 337 ~ 1115 100.00 | #hLs | 067 ~ 1115 8.00 156.16 Zzh st 1.00 | 5.00 ~ 10.78 100.00 | =nSt | 5.00 ~ 25.00| 3.00 156.16
; 100kN/m##B2% | 1.00 | 000 ~ 063 109.35 |3Im&EBZ5 -~ - - -| 100kN/m%#BZ2 5| 1.00 | 1201 ~ 1400 109.35 |3mE#ZD -~
ZnLs 1.00 | 0.63 ~ 841 100.00 | =0 | 000 ~ 841|248 12.562 Zzh st 1.00 | 5.00 ~ 1201 100.00 | =nS | 5,00 ~ 14.00| 2.48 12.562
g 100kN/m%#E% % - -~ - -|3mEEZD -~ - - -| 100kN/Mi%Z#BZ % - -~ - -|3mEEBZ B -~
s 1.00 |1 0.00 ~ 749 95.78 | =hst | ooo ~ 749|204 10.29 Zzh st 1.00 | 5.00 ~ 10.28 95.78 | #nLS | 5,00 ~ 1028|2.04 10.29
9 100kN/m%#E% % - -~ - -|3mEEZD -~ - - -| 100kN/MiZ#BZ % - -~ - -|3mEEBZ B -~
ZnLs 1.00 1 0.00 ~ 4.84 60.31 | NS | 000 ~ 000|176 8.90 Zzh st 1.00 | 5.00 ~ 56.10 60.31 | =hS | 6.00 ~ 510|176 8.90
10 100kN/m%#E% % - -~ - -|3mEEZD -~ - - -| 100kN/Mi%Z#BZ % - -~ - -|3mEEBZ B -~
ZnLs 1.00 | 0.00 ~ 4.44 55.35 | TN | 000 ~ 444 1.99 10.06 Zzh st 1.00 | 5.00 ~ b6.20 55.835 | EnLS | 5.00 ~ 5.20 | 1.99 10.06
17 100kN/m##B2% | 1.00 | 000 ~ 1.69| 12593 |3Im&EBZ5 -~ - - -| 100kN/m%#B2 5| 1.00 | 11.08 ~ 1869 12593 |3m&E#ZD -~
zns 1.00 |1 1.69 ~ 948 100.00 | =nLst | 000 ~ 948 2.21 11.19 Zzh st 1.00 | 5,00 ~ 11.08 100.00 | =nRS | 5,00 ~ 1869|221 11.19
19 100kN/m#%#B2%| 1.00 | 000 ~ 230| 13581 |3Im&EBZ5 -~ - - -| 100kN/m%#82 5| 1.00 | 11.25 ~ 2600| 135.81 |3m&E#ZD -~
znLs 1.00 1 230 ~ 1008 100.00 | #hdst | 0.00 ~ 1008] 2.82 14.24 Zzh st 1.00 | 5,00 ~ 11.25 100.00 | =ns | .00 ~ 26.00| 2.82 14.24
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
Zzh st ~ Zh st ~ Zhst ~ Zzh st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%#BZ 5 ~ ImEEZD ~
Zzh st ~ Zzh st ~ Zhst ~ Zzh st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
Zh s ~ Zh s ~ ZhLlst ~ Zh s ~
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